(2) JE IR LT B B S 3 2 B A

(HEA7: )
No Bifae2 Bkt g8 ERNE
\ K B e AN = - A AN

| B AT R e 300,000 [HEBIRENE HIE B D) 64T

(kA THZHT)

400,000 |7 | W B PR R = F i ak RS B (e 3 3

2@&&%ME%¢%§%HW@%§ 300,000 | B {5 25 34 Ak 1 00 58 A SR R 3

(PR T HT) 200,000 | By 1A 55 2 P Eh e F 3

100,000

T IR A A s e 2

F)NEEEEZE AR —Y KESFEITEES

3 N 1,500,000 | 55 2 3[E1F5 ) [ A 2538 AR — K Bl ff 552
(R RATH FEATHT) A2 A =P
4(®ﬁ$§Mﬁ%%W%%%% %Omo%%ﬁ%%ﬁ%%%ééﬁﬁﬁﬁéﬁﬁ$¥
(ERATHAE FRT) ’ CRBhR R E % 5ER)
(—%L) B B ges s = ~ s
D L 300,000 | B Rk s X 3 ff e 5
(i i S HIRR R REE SR
7)1 I EWME - . .
60%%EH%E$%%?§L 500,000 | B AE {7 28 5 S 1 o 3
(BT ALDO)
800,000 7)1 WAL SR Ak R 2 B fee 2
7@@%ME&%@&%%§ 300,000 JA A& MR AL )1 ) AT
(FE AT ZHT) 500,000 | & v &R EH DB A LAFIR S e
330,000 [ 245700 S H B F IR D EEHE ¥
E;&[/E\ 7?- e AN . B )
| FIIRT R TN 100,000( 224 230 4 D7 BB I AT H 3
(FE R T FERERHIT)
(&) &) OO EE B . .
9 500,000 EZEAHE B MHE
(BT L) e AR B R - IHE
N N =1 AN
o B FATT I 950,000 [T 7= DI BB EHHTF <7 — 2T o7 1 |
(AT B2 i)
) B AL 4 — Wt \
| PR BIR =L e 2 — i 300,000| T AN I/ SHF L in AAVO e H
(FE AT T LHT)
FIRRAER B EE BB EA S \
o B/ REEZREZ R R 500,000(Fe/E % BV # % B R O AT R # % B E 2
(R T M)
—oa—aRl=FgeE
g TR ERRSERT 490,000| TN L F BRI A 2 1= % R s s o

(LA TR

i

7,870,000




